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General Instructions :
1. The question paper comprises of two Sections, A and B. You are to attempt both the
sechons,
2. All questions are compulsory
o 3. All questions of Section-A and all questions of Section-B are to be attempted separately.
4. Question numbers 1 to 3 in Section-A are one mark questions, These are to be answered in
ane woed or in one sentence
r 5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
_ in about 30 words each.
= -~ B Question numbers 7 to 18 in Section-A are three marks questions, These are to be
. answered in about 50 words each

7, Question numbers 19 to 24 in Section-A are five marks questions, These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills, Each guestion is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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HmM-31 / SECTION-A

1 34w = 7 fafery fomw o= Sifan ey wifte o= @ 55 8
mﬂﬁﬁnﬂuﬂﬂwgﬁguF&am?ﬁn&:ﬂEmﬁﬁﬁﬁ

2 frmmr st d s s s M At e s S = s
Tt ?
Two balls of different masses are thrown vertically upwards with same el
of them will rise to the greater height 7

3 ﬁaﬂmﬂmﬂigii%%ﬂﬂﬁaﬂﬁ&i
firen 1 i Y TR F T ey H we b e )
, While playing football the goalkeeper didn't get suificient time to stop a fast ball shot towards
him, Why did he hurt his hand while doing so ?

4 ward  Haw W e Weren 3wt s Wt & wit § s ol e § 0 2
(i) W WS H i H e @ 9w W S T e
(ii)  Eetm I TER TR AE S W 0 ggfan w5t e w6
What do the following observations about mattér demonstrate about its physical nature?

(i) When we dissolve sugar in water the water level does not rise.
(i)  The smell of dettol can be detected even on repeated dilution.

5 A ST & W e AT e % e e v e e €0 2
MName the tissue present between  internal  organs. What are ils

tunctions ?
o R A A B W o Eehl el e e | i O § ) st s & fay o feamem 2
1 T HIAT |
Explain an activity to show that, during a free fall heavier and lighter objects accelerate at the
same rate.
7 st i ot dfed | g fafl @ fe wen & 23 () yow fed wm &7 3
Define distillation. What type of liquids (substances) can be separated by this process ?
& fiwE frarreme gm0 e gy fl w3 s w1 w gee % Wil & b smedn e w ek 3
: o B
Demonstrate by an activity that the rate of intermixing depends upon the forces of attraction
between the particles of matter.
g TR A A W i o au e Set w7 frsm e g 3 faor =i o e 3
Forvst e 1T et WIe w1 ST o W o fagedl ¥ faves sifem '
Kahul and Manav each were given a mixture of fron filings and sulphur powder. Rahul ™ B
heated the mixture strongly and a new substance was formed. Write three points of
difference between the two.
10 HiE w wE e F s g i i s fafe 3
Classify the organisms on the basis of the number of cells. Give two examples each
N el i v sow w1 sl W s e i W T = W aee 3
Tt
Cive the schematic location of the meristematic tissue in the plant body. Give the function of
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each of these tissues,

rireft 7= F e a7 Frm + e aar Fme

(a) =% 79 T w5 T W

(b) o e amayr 57 far =)

(c)  =fE s wsfierd- v fiar s mm

What are the effects of the following on inertia of a body?
(a)  If force is doubled

(b)  If density is halved

(€)  If volume is reduced to one thrid

Wy afE e e W w38 me? B, W A w fit fie @ ww e @i et s 3
O JeE W10 kg &7 _

() el v TR v fw 2

iy 3R twd B ogm S B s e woaeE R sl gl woamed s B

wfrwm a1 ar=m g7

(i) If the force of gravity on Mars is 3.8 ms™, then what would be the weight of an object on mars
which has a mass of 10kgs on earth? :

{ii) What would be its weight on earth?

{iii) From the above data, analyse what will be the percentage difference of your weight on earth
and on mars?

=1 WAl % Tem i

i ww fUE w vl oW f-w W M v s F e ) o fie W o e wew

wE |

iy e nftr fiE W l-we ww  wEe @ e Bt A ofn @ am faf

(o ¥ e A ufied e awelt # wi w ale e F 2o & A ey fafan

Answer the followling gquestions :
(i) The distance - time graph of motion of a body Is parallel to %' axls. Identify the nature of
maotion of the body.

(0} Name the quantity measuresd by the slope of the distance — time graph of a moving body.

(1) Write two advantages of graphical representation of variation of velocity with time over
tabular representation of velocity and time,
T 20 g FEEA F M 8 kg AT F IEA D 400 m/s F A0 W OO WA ¥ Twm ®

whreifam w0 %1 7o Fifag

A bullet of mass 20 g is fired from a gun of mass 8 kg with a velocity of 400 m/s. Find out the
recoil velocity of the gun.

() 98N R H ol 7] W20 N WE T HwE | A W emE WL A I =
fEmmd? (g=9.8msY

i) 3w e so N, @ SEE e R R (g=9.8 ms )

(i) A force of 20 N acts upon a body, whose weight is 9.8 N. What is the mass of the body and
how much is its acceleration. (g =9.8 ms™)

li)  If weight of a body is 50 N. What s its mass 7 (g=9.8 ms"?)

T T AT e % g% 6 W w wa w3 3 a3
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Firen < e = WA T w5 g ﬂﬂﬂ%iﬂﬂsﬂ!!ﬂ.% TR
o 3 38 e a1 T A o H A g i o w3
3 = o e s Al =) o wr & wam w0 ¥ fe e fm e TEREf AR w1

erdreret sren T il A W 1 T A

(i) TrATaRE e w1 v fair aw wEwE A e w5 = ?
(i) aR T T e ) A e e s W - §
(i) e o e A = T

Rameshwar took the responsibility of his fields when his father got old. His father advised
him to use farmyard manure over fertilizers but he wanted to use chemnical fertilizers. His
. father told him about the adverse effects of chemical fertilizers to the nearby water bodies,
Eﬂriﬁmmpﬁﬁgﬂmﬁgﬁigﬂﬁim&unﬁﬁmE.mﬁnnﬂuﬂnmﬂn.ﬂl_.._
and judicious use of chemical fertilizers.

) Why the  chemical fertilizers must be used carefully and
judiciously ?

{iiy  Manures are natural fertilizers. How can they be prepared in the field ?

(iii) Ewnmﬂgﬁn%&qﬁmgm .

18 mﬂﬁﬁﬂﬂﬂafﬁ#mﬂnm%ﬂﬂu&gﬂafﬁﬂ#ﬁ!&ﬂﬂ
srETEE |
mﬂﬂﬁﬁiﬁ&ﬁwﬁ.égﬂ%imﬁﬂ&mmzﬁﬂ!aﬁﬁmﬁq
requirement of poulty birds.

19 (a) feh e & WA § T & v, few B F W, TE, T 5 gRE SN O MY F
e €1 v & e, frdm weiivs s, el W O T Y
by ot A e W e o

@ ftmmmd e -

iy 29 = EE k

(i) & et faer | —
(a) Pond water contains sand grains, clay partiches. salt. piec
bubbles. Select from amongest these, an sxampie sach of & soiv
suspension. ]
(b)  Give one example of each of the followsng -

(i) A solution of gas in liquid.

(i) A salution of two solids.

(i) A solution of two gases. L

20 iiﬁi#ﬂﬂﬂﬂﬂmﬂﬂﬁﬂaﬂmaﬂmﬂﬁlﬂ S
wF W = %%ﬂﬂﬁ&ﬁﬂ&ﬁiﬁiﬁmi =

T
Elii!iﬂﬁuﬁﬁﬁ%fﬁi its boiling point? List the factors
affecting evaporation. Mention two examples from daily life where evaporation causes

cooling.
21 5 P e i Sl W TR T R SO WA

@) e v Tl 3 qmemt o wifs v S wEEE e T
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(by e T st w1 SenfE au el w1 v o T wm
(c} =% 3% Ata T TG B WAR Td WA SO W
Identify the following muscular tissues and sraw their diagrams :
(a)  This tissue is mostly attached to bones and helps in body movement.
(b} This tissue is found in the iris of the eye and bronchi of the lungs.
{e}  This tissue contracts and relaxes rapidly rhythmically throughout life.
(a) ity fafiy gro wfl & Wi, v = o + at % W FiT 5
(b) B awgel A e B A W i ww Ry v F srfivn o gro e ¥ o st
y

R

Ve

.ﬂﬂ_ﬂﬁuul
(a)  Derive the equation of motion, v = u + at by graphical method.
(b) Egﬁggfmiu??gémﬂgﬁﬂaﬂﬂmi?%q

Sﬂ_m_.mnu%e.&:&ﬂw

*

LUl {m/s)

sl

y

time (§) ——s
{a) HEEﬂﬂm#ﬂgErn&,ﬁﬂﬁﬁﬂﬂﬂwmﬂwuﬁHraiwﬁ 5
1 90 A H ferm wan s
(b}  Trufa-wa e W2 YEn o e et e & A A g A g et wm W R
it 7 3 = e e wwd Fofz qrow €
(i) W 3w % T S T
(i) 779 % | 45° 9w T

(i) "

velocity (m/s) —

Ll o J

(a) A train 100 m long is moving with a constant velocity of 60 kmh™!. Find the time it
takes to cross the bridge 1 km long.
(b)  The slope of the line on a position-time graph reveals information about an object’s

velocity, What conclusion can you draw regarding the motion of an object, if the pasition-
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{f) horizontal line parallel to time axis.
(i)  straight line at 45° to time axis.
(lii) curve. .
24 W T § Tt w1 el & i i 1 e wifen ) S W Yy S a9 Ty S
VT I W TS § 7
Mention the desirable characteristics of bee varieties in bee keeping. How does pasturage
affect the productivity and quality of honey ?
MT-'/ SECTION - B .
25 HEfe g sl faeee fom ofieets & o e S aw R . L
(a)  Hiz wEgEEiE s (b) s HEwiE s
T iz i (dy = i eEglETEe
The reagent with which metanil yellow dissolved in water gives pink colour is :
{a)  conc. hydrochloric acid {b)  conc. sulphuric acid
(<) cone. nitric acid (d) conc. sodium hydroxide
26 AW A AR e Ee W T A, B, C 7 D e wem: € swe wEm W s, we sl em
w1 Foreir, waet s @ Freivg o weem e, 3 SRR fera w0 g S W R
el 1 @ HI w2 w1 At & i g wRem am?
(a) A BEUIC (b) B CHWND
) A CH¥D (d A BCTWD

Aayush added a few drops of iodine solution to the food samples A, B, C and D containing
boiled rice extract arhar dal extract, boiled potato extract and corn extract respectively. Which
of the above samples will show positive result for the presence of starch?
(a) A BandC (b) BCandD
(€} A CandD (d) ABCandD
27 N A wEw WEEt o fAEE i a1 wE e e e F san

#7
WA
- e =

s Lt

_ : me

e

wiW W W
a (]
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The correct set ups of apparatus to heat the mixture of iron filings an and sulphur powder is
shown in fig :

£l

( ) I ) e | AP (- _EmE (@ I
%Wﬂﬂﬂﬁﬂaﬂ#aﬂﬂnwgﬁﬁﬁg 1
(a) =g fEm | ™ wEm
(b)  wAWA T H T
(¢)  Temor & eaer wqeem
(dy e A T

Suggest a method of separating iron filings from sulphur powder :

{a) Heating in a china dish

(b) Heating in a boiling tube

(<) Moving a magnet through the mixture

{d}  Heating with water

e wez fawe § afem sy fams T WAt wehe T s FEREE w9 E )

% T Sl i i S &) e s §
() BaSO, 1 ilfls NaCl Wel # gorier 1
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{b) NaCl# ﬁﬂ:ﬁnpgﬂﬁ,mﬁ&d?
() BaSO, 7 NaCl 2l w wiifen £ral e if srqereiies £
(d)  BaSO, 781 NaCl 3 w1 wiff 3l e & sevreiet &

On adding sodium sulphate solution to barium chloride solution barium sulphate and sodium
chloride are formed. A white precipitate is also observed. The precipitates is of :
(a)  BaSO, as NaCl is soluble in water
(b)  NaCl as BaSO, is soluble in water
{c) BaS0, and NaCl as both are insoluble in water
{(d)  BaSO, and NaCl as both are soluble in water .
0, srEar ST ) T U TS W S 1 S g & I A W W i a1
il &1
(a) Wi T w1 wned s we |
(b &% smww ) wifeend g |
(c) oY smww w wifend wn e |
(dy o AR w wifiwnd wfvw gon |
You are viewing a prepared slide of a temporary mount of cells under high magnification of
microscope. You would observe :
(a) More number of cells of large size
(b)  Less number of cells of large size
(<) Less number of cells of small size

[ (d)  More number of cells of small size
. T w1 A i e wee e | 3 At i w5 s wie & g e

el A

(a) s
(b)  dfsE, ifireerm, e, $UE

(e)  Egre, Sy, dn, deE

(dy i, Fifie we, T, g0

The students were shown the permanent slide of a nerve cell. They were asked to draw the
diagram of the nerve cell. The correct labelling is:
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Eﬁuﬂﬂ_ﬁﬂnwmﬁimﬂﬂﬂag? 1
(a)  FHFER TON I

(b) L

) 4 TR T 3 W

(d) 1 AR T A ]

Auaﬁmsﬂﬁmi&mﬂu;:oﬁun.sdﬂnﬁf

{a) spring balance

(b)  panbalance

{c) :&Eﬁmﬁnﬂmw&ﬁmnﬁﬂﬁgﬁ

(d) aﬂmnﬂﬁmgpﬁmﬂmﬁ%
%E&?w.nuauﬂ%imﬂwﬂﬂ»iﬁﬂﬁ_?ﬂiuuinain? 2
iﬂzﬂﬂﬂﬂﬂi&iiﬁi&gﬂgﬂﬂﬂﬂ@mﬂﬁ%_%gﬂm

= et fiefia)

* Four students A, B, C and D are asked to prepare colloidal <olutions. The following diagrams

show the preparation done by them. Name the student who will be able to prepare colloidal
solutions. Write two properties of colloidal solutions.
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35 9 fou T AGHE-EEE TE 1 AEEA FifE0 9E W - 10°CW F9 F 100°C 7F T FH 2
w T W oamen d wfEd W oawim # owE F o wr W vt Wom w W
srre-fiada ) Frefa w0 §) smr-ufads w smf § sl sein s w0 ad §

E
1
B
g
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BT ]

A

k]
S
W

!. = ———
Study the temperature-time graph given below. This graph shows heating of ice from ~10°C
to water at 100°C, Identify the part of graph which represents the change of state on heating,
During change of state where does the absorbed heat energy go 7

i m_M\f\W |

A

——

Time ee—f—

36 e o gl feefel W e Gog fetd fem she g wm ww s owe o e 2
% wram feufil #1 semwe 10.5g T fewfdl gro savifen = ot wReRR SR
witay) i e i i E?

A student recorded the mass of dry raisins as 6.0g and mass of raisins after soaking them in

water for about four hours as 10.5g. Calculate the percentage of water absorbed by raisins.
Why do raisins get swelled up ?
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